o
o
z T e 3
N |8 S m o |2
& < 8 & |5
SLO|3 €15 2|8
=
c D ._
o S = 5
N 83 s S 4 E
N DD 2 9 X~ | W |
8 %5 =S <o | Z |2
S =E 0 = N © e
= ~ — 7] O = -Z —
[ © ) . (O] 9
= co - A. D
(3} £ = [ 1 U 3
° © O © = ad =
e} S0 s [} >N > el
®© <z - &) ad 15}
P  © o o NN S ' g
+ a a &) 3]
| o A,O
— — [ > >
2 B < E E =xcx | O
o o< S T @ <C
o © To = 3 3 = al
T ®© @ O o = = oo=
8 8z 8 % %
2 o o2 > = b O — E
S 0o [ N © ° w —
3 2 25 £ £ &€ g — - |
c < €O . T © =d @
[0) — =0 ) N N C W =
pust o @] o [\ (] T N
o = = © o = o—— A ©
2 8 &c s N N <L o |s
w=a | £ |3
< xprz | W |-
z ) O .= N
) | - w_ e
w .
4 5 Z s 0O
S0°05) g =0 | .
02 u OO0 (3 =
23 o () > = i
o= (e} 14 () ~
BE < =2 < e o
= om = ] =
] N = <C
< < 2| |E£
=z z o n
vL'6¥L =H Kd: v1'67496'gp1 810 9£°698+0
9£'€98+0 WM £0=H 11671
- 96'8YL 120 £9°/68+0
00 098+0 ez 611 19681 20 00°558+0
6c6yL HE6YL €00 e 00°0v8+0
I
G561 ([S96YL|r 910 00'628+0
(o) ]
Do
DS . . .
"z S " 226v1 lss 61 80°0 00°018+0
% © 8.6} =H | pL6Y} . . .
=00 —ogcosso-UHR T T T T T T T T Smmanues sG] 6L 67| re 6r 810 58°108+0
= + Jo U TUMN MJOH..‘_ :
hw o cg6yl LS 6YL 1Z0 00'S6.+0
(0] c
I.w X 15671 Ge0 0L'¥8.+0
S @] 06671 1756V 8€°0 R 00°08.+0
[om >
‘NO G
20 I
—— ~ g -
o0 - 96°67) [[LI6VL Sv'0 00'69.+0
O~ # 66'671 =H I T e I I VNP F T Zro ¥0'29.+0
QO [ v0T9L+0 Wy epert
v— = . . i
06671 920 — |lszesz+0
,mu o o 6.6 €20 860
C G005} =H S R RS W N— _— — —e00g |66 67 ) €0 00°05/+0
= & oeosirowy 50°051
Mw i~ £0=H
| -
Q0O . . .
3, o — er-os)|Ferosy LV0 00'SE2+0
- a =
(=) »
- 91108} =H Lo 10051 1£0 08'922+0
O\ 01'82/+0 Wiy . }
D ‘o €205 =H cosb o b e lboros 8e'0 2 ||tevzzz+o
ML = 6%'22h+0 Wy 0=H 9Z°0G1L [FCL'0GL 8€0 8S 00°022+0
= O . "
= Ge'0SL =H e Heeoe flozoss 1£°0 o | orzLeeo
O © T orzil+owy gosl
8 c €0=H . . .
o \ ep051 1627081 9e0 00'G02+0
TE0F -
$ 9505 =H 97|769+0 W Tt —1T —1— Ee g0 | L 0728910
v _ 9 | T 051 |FPE 051 S0 - 00'069+0
6505l =H 02769+0 W g _.__ Co0SHIE. 2 30 — 188 183+0
6.°0G1 [[BY'0S} S¥'0 00'69+0
130=H
. 68'0S) =H 0sH - — & — — —— — — eg0si|z5051 G0 08'999+0
¢6 0S8l =H ng'gag+nw -4 4+ 4+ |1 | i _] . ) ]
. . 19051 S0 08'299+0
€ 79G+0 |Wwy L5 16:051|[79061 70 00°099+0
Gh'0=H _ . . .
@Oh—‘m—‘ =H SG1£G9+0 Wh ._b‘v el e i ————— w—— J—— i —— ——— m— — —— Ww_v‘m_m .m»mm” me MWMWWHW
L0°LGY =H 6112G9+0 WM wﬁwmn
91°161|r98°0GL L€°0 ope 00°5¥9+0
n :_.
20151 seoll [ Il [lesogg+o
ye7 16y c0Sl Ge'0 000€9+0
L€|LSL =H o= | [ _ | | | 1 [ |1 | 167161 90'LSH ¥€'0 2€'.29+0
4 Z€149+0 Wy 151
e ¢
O 00G1L9+0 29151 =H 0=H ze6ilt 26716 §L0 00'619+0
o) 00'GL9+0 W ss
o
] 220 a0 | oo'Lo9+0
n_mu 99'16 )| P¥' LGV 0 SIS 100°009+0
oo
O 1oL d [
I,M 11161 =H . | __leuzemew wnopuzob | | _ | __ __ | __ Ry ]! 8Z0 | 00'685+0
; nfT
© 00°68G+0 W G151 8Z0 [F 1 00'G85+0
A v N ¥8'1G1 =H 961G} 820 85'185+0
> 8G'18G+0 Wy
E - 12711 z10 0¥'2.5+0
o 09151 010 11G+0
— 78151 900 A
” “ O 18161 G500 — 1€°295+0
o ¥q1S) =H —_——t |t — 4 — = — — — — — — e 15 81SI L00 19°€95+0
A V %u ﬂ 19°€95+0 Wy
151/l 88151 010 00'556+0
A nb &%.E =H 16°EES+0 WH — Y — 0 — 7 — = — — —— " — mm.mw 18161 4% 16°€G6+0
=~ A Trozst EH voobero wy R ——— 17151 17 41 &g 8%
W % ¥ iocst Fr 696ts+0 wy
W 90°¢G1 | L8°}SH] 02’0 00°075+0
o2
—t——
_ 7)) > L1'2SL FH 65 1ES+0 Wy — W glesist 810 65°1€5+0
. 261 [=H z0'0§5+0 Wy [ e e B (Y A e R A S . FAR- KAt 110 20°085+0
— = +
S S cl 0 v1zc1lF 86151 110 00'625+0
W > 11[2S) =H — e zailtoozes 8Lor &b 68'815+0
1N 68'8|5+0 WX CE
— = 7761 lleozst ozol " 00°045+0
U o €qesl =H — &z 7e ozt 00 1G'206+0
l®) ¥V sspsowy . . .
o 24251 =H I N E— P e e L Lo [0LTS) .10 99'106+0
— SHpIHE-A S S e 1o e A o O SO 6zzsL | € 2sH 910 04°L67+0
O 622GL =H|  0LZ6v+0 Wy E 08754 | 94 28H 510 00°G67+0
~ a
¥€[2Gl =H o 1 | 4 | 4 1 yezgL|rieest (420 v€'887+0
n_ZU < E'887+0 W -
y B 8€'ZG1 (18225 h 010 00°087+0
DI > pECGl qH EE'8LY+0 W el e S m——— —— O —— ——— —— —— f—————— mmmm_w .mmmm_m mwm WMMMWHW
< BEZGL qH ¥E Lip+0 Wy
9y'es) [[9€7Cal 010 00°G9v+0
P P et 00 Lv57+0
+ .
2ot lrzgt zh 05+
8dzs) =H T [£% 5% a5 I i
89°ghy+0 W &y 652G |[LV'2SL [430] ¥6'9vv+0
0475 =H 3 emeidevons -emoyeroseeny | orz61 lloszst 610 0V'9Er+0
OV 96p+0 W - — — — = = L2251 |[VS 251 020 00°'5EH+0
¢8¢sl =H —_—— e e e e e o e = = — —— — — — | 7575, (65726 €0 = LEYey+0
. euer f|in Z eyluzoe} s s
S VE ey +0 W II Bted BUBF [N  BYIUZOSt $O og'zc1 eozst 610 S o0z
1 1
-
10'eg1 [(¥8'eS) L1'0 00'507+0
2dest =H I I S I N I el 06 L06°2S LV0 Y9'66€+0
V| rospe-ow =
©
£ 91°¢G1{f00°€SL 91’0 N 00°06€+0
02'€Gl =H 0€°98¢+0 WM — T TR e ey — T — — — — — | — —oess ¥0'€S)L 910 Momu 0€'98€+0
- : . 5 :
7 idest - T e B e T T 54 A8 = 65 58510
vzge+ > .
sl =H \% -]t —— ] — — —  — +— —|— —lezeqi |t L1EsH grolt —f- 11°9/6+0
A T B g S e 6 o 00°6+0
|
opegL OV €St 900 543 [[00°09¢+0
61 ESL =H e N oo T ] 500 <12 |fog9ge+0
08'96€+0 W . nfy
el lrgest 200 I |r60°:068+0
<> 95°6GL +H 60°0BE+0 WM * S 5 8114314 200 L [gerero
) T : w
< 9G°€GL TH 186pe+0 UM 19°es) s est ¥0°0 00°GYE+0
> S9est =H y$ - 11 |1 ®r__ 1 [ | _[__ ] c9'eq) [F19est ¥0'0 99'h7E+0
99" LpE+0 W 89'¢G1 |99 €L €00 ~ |r9e'8ee+0
5185} =H - _|__ _ cwenemedeuoss-emoyopseer . €00 09°168+40
09 LES+0 W] YRS 2R €00 00'0£E+0
TW
o
©
‘ 16°€G1 [f06°€SL 100 00'GLE+0
000LE+0 96°€51 =H ——— e ot e i e e e o | e et e e e e Lo llgEieG) 000 00°0L€+0
00°0LE+0 WH yoAmoluyoziaimeu }0qo. %8)ezood
0L¥51 00°00€+0
>0 Q0
. o 5
T8 0 o .| B
3 8¢ 10 0 3 I .. > <
- o3 - - =Y o 3
3 o] o > [} >
Ne _ c 2]
% () o M m
gl 0z'€Lz+0 25 el =
O O .. c c
c| w. ol @ () 8
32 Ea ElE| =
N| NI ®s| @ @ =
| x|S|z| | w@ a




